


Chromosome 1 — Chr4_12800000
8 -

i
. i
%_»4_ i!-.%*'fp‘: — J. 1 3
_2_ ,‘:ﬁ"k""“ﬂm""““‘? Wy g 47 wyqf y M . q‘&«":.rnﬂ“ . .
0- :"::s.-....-q..:"""""'”*"'\."-’ | Vet ettt M-A.....n--; ) ! w s i ‘\WNM W A MW’!MW&N
0 10 20 30
bp/1e+06

e Py

__
__—-—- e

——
__

count

10 I 30
pos/1e+06
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Chromosome 3 — Chr4_12800000
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Chromosome 4 — Chr4_12800000

nped b . |
0- L M.. A e o Mﬁmﬁmﬁﬁwi .&pﬂ" 9¥5"W0W“b’“~cw¢or""‘-%~, >

0 10 20
bp/1e+06

count

pos/1le+06

30

30



Chromosome 5 — Chr4_12800000 acc
8 -

ct-1

6 -
2

. :

L L PR, VW X
. :\,M;w""'..-" ""\:‘lr—w.u#'*..r"r"{ '*7' -“WMV‘M ...d\n..Lc- cut it ot u MWWWWMWN e B
0 10 20 30
bp/1e+06
l -
O -

20 30
pos/1e+06




